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Sub test() ' #HEETE (2 XTEFIFIA)

Dim p As Variant RIDT=HDZEEL )
Dim p2(1 To 48, 1 To 10) As Variant
Dim g As Integer, ¢ As Integer >

Dim i As Integer, r As Integer, j As Integer .

Dim ws2 As Worksheet, ws4 As Worksheet

Set ws2 = Worksheets("Sheet2")

Set ws4 = Worksheets("Sheet4")

p = ws4. Range(" 1").CurrentRegion.Value
g = UBound(p, 1

¢ = UBound(p,
j=1 /MH%#L:;H? 3] DRI )
Fori= 2 Tog )
[ ?
If p(i, 3) >= 2000 Th ’5¢ [ForNext] Zf£3
For r=1 To C

p2(j, 1)
Next r
j=j+ 1
End If

Next i .
Xt s 1) L [;tf ro, ?k

Ws2. Range ("a2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 1)

ws2.Range("b2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 3)

ws2.Range("c2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 10)
End Sub
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2 g 5,255,020 125.4] LR 83 3L e#ud | 7,670,000 5569 15 |2
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Sub test() '91_1 {RERZ
Dim p As Variant
Dim p2(1 To 48, 1 To 4) As Variant
Dim g As Integer, c As Integer
Dim i As Integer, j As Integer
Dim ws2 As Worksheet, ws4 As Worksheet

Set ws2 = Worksheets("Sheet2")

Set ws4 = Worksheets("Sheet4")

p = ws4.Range("al1").CurrentRegion.Value
g = UBound(p, 1)

c = UBound(p, 2)

j=1

Fori=2To
p2(j, 1) =

Next i
ws2.Range("a2").Resize(g, c).Value = p2
End Sub
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Sub test2() '91_2 EEEEE
Dim p As Variant
Dim p2(1 To 48, 1 To 4) As Variant
Dim g As Integer, c As Integer
Dim i As Integer, j As Integer
Dim ws2 As Worksheet, ws4 As Worksheet

Set ws2 = Worksheets("Sheet2")

Set ws4 = Worksheets("Sheet4")

p = ws4.Range("a1").CurrentRegion.Value
g = UBound(p, 1)

¢ = UBound(p, 2)

j=1

ws2.Range("a2").Resize(qg, ¢).Value = p2
End Sub



